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5¢C, pH = 7.0, Ca?* =9.5mg/L, Ss = 60mag/L, Alkali = 30mg/L & @, pHs &
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(DA QIZ) A/SH| : 0.04, DHEES}: 120kg/m>d, $HHAE
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7tet4=ekad ¢ Akgf/cm?, f = 90%, Sa = 10mag/L
1.350(f><P—1)><Qr
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1. BHASAMOM EHE HeAMREEH Ues VOCGILNRIISAE ZbE
HiZ7tA S 22|5He WOl Ci5t0] ABSHAI2.,

2. B2 B|O[¢AQ SE(0f: T2 dd)= wEots 2450 tiste 2E5HA| 2.
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3. £ 2|SH <= (Hydraulic Profile) & 24d5t= 0|72} 2/ Al D24 AtSto]| CHol] AHSIA|L.
4. =228 Udoto| Ho|ot ZF0|| Ciste HEHSIAIL,
5. &g (Integrated Watershed Management)2| £E49 5 7tX| 8t AEHTFIA| L,

6. Mgk H(Antecedent Moisture Condition, AMC)0|| TSI HRHTIA|L.,
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